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(A) Apache Hadoop (B) Apache Spark | =
(C) Apache Kafka (D) Apache Pytorch
" Which of the following is not Big Data Technologies ?
(A)- Apache Hadoop (B) Apache Spark
(C) Apache Kafka (D) Apache Pytorch
0. TR oiftrwr TEex §, SoRe ) TaGpY oA & T 1 UGN fopart ST B
(A) Ctrl+Shift+F5 ; (B) Ctrl+Shift+V :
(C) Ctrl+Shift+B (D) - Ctrl+Shift+F1
- In LibreOffice Writer, key is used for subscript the text.
(A) Ctrl+Shift+F5 (B) . Ctrl+Shift+V
(C) Ctrl+Shift+B (D) Ctrl+Shift+F1
3. JTFAD FEudMiTg o, e
(A) USSR (B) YU (C) YR3E (D) F3R
A Web address is also called as : , :
(A) ULR (B) UPR (C) URI [©D) TRL |
4. ﬁﬁ%mm%%wmwaﬁ%ﬁ%wwﬂmmmw
27 |
- (A) F1 (B) F2 (C) F3 (D) F4

Which function key is used to change the name of any file through the keyboard ?
(A) F1 | (B) e (). "F3 D) " F4

5. mmmﬁ-wﬁemﬁmﬁmww%?

(A) Ctrl + Shift + V (B) Ctrl + Shift+ At+0 - ¥
(C) Ctrl+ Alt + Shift + V s it (10 ] -
What is the shortcut key in LibreOffice Impress for 'Unformatted Text' ?
(A) Ctrl + Shift + V ~ (B) Ctrl+Shift+Alt+0
(C) Ctrl + Alt + Shift + V (D) None
6. wwmﬁmwmﬁﬁwaﬁwmﬁmm@rqwm
SiEL
(A) ERIRE] (B) 3rd-gARia
) IR-zARG : (D) Hafi¥a

' A type of VR environment in WhICh subjects are wsuaily isolated from the real
environment.

[(A) Tmmersive | (B) Semiimmersive
(C) Non immersive (D) Augmented
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7. foe Sfifth g Feop & U By I IF BIATR.

(A) gofHTET B) = (C) TR (D) %
In LibreOffice Calc, a function should start with ;

(A) Alphabet B) = (C) Number (D) %

5 forst aiffthe Seeh & BT TR B9 R B9 1 s REE 3ar e 2 ,
(A) @ (B)  #. C) $ N
Which sign is visible when there is a Formula Error in LibreOffice Calc ?
A @ (B) # -5 - D) &
0. oS aiffthe 1R & wer offer oy A=y frerar 2

(A) g B) A - (0) wEw (D) TWE
In LibreOffice Writer, Ruler option is found in which menu ?

- (A)  Tools (B) View ¢ (C) File (D) Insert

10. ferst &ifftew & &1 Ry P 3 forg 5 <) et a1 SrinT fovam sma @ 2
(A) RGB,CMYL (B) RGB,CMYK (C) RGB,RMYK (D) 10 ¥ P e
Which two options'in LibreOffice are used to specify color ? |
(A) RGB,CMYL |(B) RGB,CMYK| (C) RGB,RMYK (D) None of this

11. ﬁ@ﬁaahw%%qaaﬁvraﬁﬁfaﬂﬁ%mmmm@ﬁwwmw
8

(A) Command+P (B) Cirl+P

(C) Caps+P , ) SRIFdH I BIS =rs°r
Which shortcut key is used to print the web page for Wlndows 0S ?
(A) Command+P T (BY ClrleP
(C) Caps+P (D) None of the above
12. ﬁ'ﬁ%l@ﬁﬁ@fﬁ?f?@ﬁ%@%@?ﬂwﬁﬁ%ﬁ% ?
(A) PR HTAH — (B IS §e :
(C) auf ‘ ) SRIF T A HIS Tl
‘Which of the fol!owmg IS not present in the status bar of lereOﬁlce Writer ?
|(_A) Name of Computer (B) Page Number
(C) Character : (D) None of the above
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13

14.

13.

16

17.

. RE A AP TP Tead AdAR AR 2

(A) sgcTm@et (B &7 Srdetroft
() URR g Ui e D) ¥R Sardrsl
Which of the following is not a Network Topolbgy ?
(A) Bus prology : | (B) Ring Topology
(C) PCto Pc_Topology (D) Star Topology
ISR TS BI U FU R : R
| (A) Seve Mo U9H (B) THT HaTEeR THH
- (©) Sgre AT UEd (D) FHIBR T
IP address stands for : :
(A) Internet Protocol address | (B) Internet Provider address
(C) Intranet Protocol address (D) None of the mentioned

e & § 9 ot axq lieba uRar Hedd ﬁmqﬁﬁﬁrﬁﬁ%?

(A) PR B) @gw - (© B (D) Fua

Which of the following items is not used in Local Area Networks (LANS) ?

(A) Computer [(B) Modem (C) Printer (D) Cable
: Wﬁr%ﬁtﬂqﬁaﬁrﬁéﬁaﬁﬁw@m% :

(A) PRGGECIRTTAY,  (B) &mﬁﬂﬁmaﬁvm

(©) I 3R g AART - - (D) TS 5% 3R vl gr3d

‘The CPU of a computer is made up of the following components : . -

(A) Control-Unit and ALU ~ (B) Operating System and Application

(C) ROM and Main Memory - (D) Hard Disk and Floppy Drive

_sheﬁtﬁﬁvf‘aﬁ%anﬂ%

(A) %WQ@?$WW% (B) u‘a’?r@ﬂ‘cﬁ%mwm
(C) ST BT A & (D) 379 Y PIg ol

. OTP is safe because :

|(A) 1tis different for every access | (B) ‘It cannot be shared

(C) ltis easyto generate . (D) None of the above
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Fordt oifRer e oIk TR ¥ R wiere G a2 7

18.
(M) FI (B) F6 Gy :Ela (D) F9
What is the shortcut key for Styles and Formatting in LibreOffice ?
(A) F11 (B) F6 (C) Fre: (D) F9
19. ﬁiﬁaﬁfﬁb—ﬂﬂwﬁ WW@?WWW%WWW%:
‘ (A) xIx _ (B) .txt ‘ (C) .doc viA(DY oft :
file extension is used for template in LibreOffice Writer. _
(A} Mk B B ey des o By ot
20, fors SHifth oo W ATH THFRTE 2 AR
(A) 5% B PO% i O 4B DY 25
What is the minimum zoom in LibreOffice Calc ? : '
(A) 5% (B) 20% (CY- 15%: -~ TET-{D) “o8bs
21. %ﬁaﬁmﬁwﬁ?&ﬁﬂﬁﬂ%ﬁetﬁﬁmm% g
A9 9 (B) 6,69 () M o s (D) 11,96
What is the minimum and maximum default font size in the lereOfflce ?
(A) 9,96 ; (B) 6,69 : (C):°7, 72 7 (D) 11,96
22. QUi ®pH & forg ot aiffthe ot wiidape ot & 2
(A) Ctrl + Shift+J (B) Ctrl + Shift + K
(C) Shift + (D) PIs el
What is the shortcut key to full screen LibreOffice ° ?
(A) - Ctrl + Shift+J{ (B) Ctrl + Shift + K
(C) Shlft +j ! ; (D) None
o3, &mﬁvwéﬁaﬁmm%wwﬁ@ééﬁ%v
I=8 (A) sia o Lty (B) SR
) S (D) SR H Y P Tl
Usual!y signature appears at which place in email ?
(A) Atthe end i (B) In beginning
(C) In middle T : (D) None of the above
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24,

25.

26.

27.

fork offfte e e e

(A) TR O (B) - Ff¥a awgw &1 ¢u
(C) TXIASIHRU B T (D) THEl H e
is the most common limitation in LibreOffice Calc.
(A) Error-checking ‘ EB) '[he trap of fixed values |
(C) Lack of documentation (D). Operators in formulas
st 3ifftrg 3Hg & TR SFIHeS TRe 3 it ol T 8 2
(A) - Ctrl + Shift + Alt + V (B) Ctrl + Shift + V
(C) Ctrl+V _ ) 3 A PIS T
i hortcut key in L|breOff|ce lmpress for 'Paste Unformatted Text' ?
|(A) Ctrl + Shift + Alt + V . - (B) Citrl + Shift + V.
(C) Ctl+V (D) None of these i
YHRUT BT YUf U @ : )
A). I e bR (B) THHIH RERT ather
giemT R iR (D) gFwrE REN drer
URL Stands for : : e
(A) Uniform Roll Locator &3) Uniform Resource Locator

(C) Uniform Resource Location (D) Uniform Resource Loader

R iR S 0 TS T o R S T E 2

(A) 4 (B) 2 {6100 (D) 6 ,
‘What is the maximum number of wews can be added to a slide in LibreOffice
Impress ?
(A) 4 (B) 2 (C) 10 (D) 6
08. 3 3ifthe WgeR § peAie Hel R ? 2 ,
(A) TS & gex H " B) YSHIAEH
(C) WeHdTH (D) EWFI
Where FootNote is Located in LibreOffice Writer ?
(A) Header of Page AB) Iop of page
(C) Middle of Page : [(D) Bottom of Page
29. for 3iifthy ISR | 8 1% gl SR dice HHS U S § |
(A) rHC (B) & (C) T (D) =&
An italic and bold commands are found in : , menu .in the LibreOffice
Writer. ‘ ;
(A) Format (B) View ~(C) Tools (D) Insert
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ferst Sifth e XTgeR # WEl UhR & U SRTSIH BT oG B3 ?

30.
(A) Tge (B) wWEE
(C) dewpy , (D) Uide 3R AS®pY gl
Select the correct type of page orientation in LibreOffice Writer ?
(A) Portrait . (B) Slide :
(C) Landscape |(D) Both Portrait and Landscape
31. N I TP UHR BT H1dl T81 ¢ ? _ , |
(A) HHIRS B _  (B) TRS®HIa
(C) ThIc B (D) WIS Beict
Which one is not a type of kernel ? ‘
- (A) Monolithic kernel - (B) Hybrid kernel
(C) Scott kernel (D) Micro kernel
32, fore 3iifthe & Fiop! Y Ufde Fr & o B 1 o ey SUasy § 2
(A) Hd R SRS P (B) UlMIRICTd IS
© WssR@wPs © (D) FHIPETE
Which option is available for editing the macros in LibreOffice ?
(A) Save original Basic code (B) Executable code
(C) Load Basic code ' |©) None of this
33. forsl Siffthw & geR 2T e &1 Ut B P AR 2
(A) e - 3T (B) -
(C) F-TS (D) THE-BR
Which is the correct option to insert header in LibreOffice ?
(A) Format — header (B) Edit - header
(C) View —header . (D) Insert — header
34. FEHAY BN 0P sYC fSaa &2 2 e w ,
(A) TS By, sy (C) HifAex (D) WR
Which of the following is not an input device ? :
(A) Touch Pad - (B) Mouse - (G) Monitor (D) Scanner
35. forow siRfeTRregsrgem gl . -
(A) Fa B) cff (C) o AD), TS
The core of linux operating system is o '
(A) Kernel (B) Terminal (C) Shell (D) Command
_ Page 7/24 - ‘ : M1-R5 /S2/ 08-22
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36.

37.

38.

39.

40.

41.

Ri3 oifftr e 7 i 3 9 o o Rwplee Bl MR E?

(A) File (B) Insert (C) Tools

(A) 8 (B) _10 , o) A (D) 12,
Which of the fo!lowing default font size in LibreOffice Writer ? -
Ay .8 7 By 10 ) 14, (D) 12
BFET-1 BT ITNT bR o ferg Aicepe Poft gl 7
(A) Ctrl+4 (B) Ctrl +2 (C) Ctrl+3 (D) Ctrl +1
What will be the shortcut key to use Heading-1 ? ' :
(A) Ctrl +4 (B) Crl+2 . (C) Ctl+3 D) ctrl + 1
_round (175,-2) FT3TT__ KX _
(A 200 (B) 100 (C) 0 (D) THIBE T
| is the value of —round (175,-2) ? e = \
(A) 200 (B) 100 (C) 0 (D) None of this
g @ few PR § SRR wIgd W6 § 2
-~ (A) /bin/ (B) /root/ - A€) “Jdev/ (D) Jefc/
Which of the following dire¢tories contains the cohfiguration files ?
(A) /oin/ (B): Joetl. . (C) /dev/ (D) /etc/
P SMBR F 2T B! 7T ST BT SE1 8 2 | '
(A WmsEe  (B) AmaEe  (C) WaSwe (D) Yereme
Which size of data is called as Big Data ? ] ;
(_A) Giga byte (B) Mega byte (C) Meta byte (D) Petabyte |
R afiftre eR & At wref fopg AL H AR SICAT R 2
(A) IR (B) TWC (©) T D) &
In LibreOffice Writer, the mail merge is found in which mehu ?
(D) View
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42.. ms%saﬁramﬂw & o frar o @ -
) dRReY el 3Ry -

(B) WWWWWWWM@HW@?WW%
fere Sud wrar &

(C) SeriT YuR % o Swi R oy

(D) ae @R TR P forw Iy fpar ST &

Broadband is used for :

(A) Wireless data transfer ‘ :

(B) The actual internet connection that your modem/router uses to send and
receive data :

(C) Is used for intranet communication
(D) Is used only for voice communication

| 43._' Calc BISTc $t A B & AT B TRTT T 2 2

(A) .ods - (B) -.odl LATE Al (D) .odc

- What is the file extension to save Calc spreadsheet ? , ,

(A) .ods (B) .odl (C) xix "~ (D) .odc
44. forst sifftpy 7, ﬁ%@aﬁﬁ%@r@mﬁewﬂq%wﬁmﬁmw%?
LAY » (B) Cal¢ '

(C) W (D) PRHETE IR

In LibreOffice, Which of the following is used as Spreadsheet Soﬁware ?
(A) Math : |(B) Calc g ‘

(C) Writer : (D) Customlzed software
45. ﬂ@mﬁuﬁmﬁmmw@raﬁﬁ%? , _
(A) THWES  (B) TEIWIES ) WewES (D) BT

By what name do you know the first slide in the presentation ?
(A) Home Slide  (B) = Main Slide [(C) Title Slide (D) None

46. THUTT, ¥ & A S S -
(A) AcIqiferes sife Aeads (B) ﬁﬁﬁﬁfrﬁqﬁmﬁmﬁa‘n

) HSI T Aeadh (D) W®EIUifere T Aead
MAN knownas: = - : : .
 (A) Metropoiitan All Network (B) Metropolitan Area Networkin
(C) Metro Area Network F)) Metropolitan Area Network 1
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47, f oPO TR _ SR o RS GHd § 2
(A) 100% (B) 600% - (C) 400% (D) 800%-
maximum zoom percentage possible in LibreOffice Writer ?
(A) 100% ~ |(B) 600% (C) 400% (D) 800%
4. PN T feRiea yrar siaRon @ [l T8 8 2 ‘
(A): -URI = (B) NFET (C) RTGS - (D) IMPS -
Which one is not the method of Digital Payment Transfer? e
(A) UPI (B) NFETl (C) RTGS { (D) IMPS
49, R oifftpd e § Bren 59 TS I YE AT S ?
(A) $ ‘ (B @
C) = Gqﬂaﬁﬁ@fﬁé?s‘t
* A formula start with which symbol in LibreOfflce Calc ?
(A $ ‘ (B @ ,
J{G) “=ab: 7 (D). None of the above
50. .Wﬁ'eaa‘?awﬁwmamﬁ:
(A) TAWEA. . (B) THUUA
(C) SsYTE. , (D) SR THi
Select the correct type of Computer Network :
~(A) LAN (B) MAN
(C) WAN : (D) All the mentioned
51. ﬁra&ﬁmmﬁmﬁ'ﬁqaﬁ%? | |
‘(A - (BY 18 (C) 8 (D) 10
How many menus are found in LibreOffice Writer ? _
m ] B) 13 ©) 8 @) 10
52. fory oifrg ek Ao s b g e ol T SUANT T ST
- (A) Ctrl+F7 (B) - Shift+F2 C) F7 () .F2
: function key is used for spell check in LibreOffice Writer.
(A) Ctrl+F7 (B) Shift+F2 |(C) F7 (D) k2
53. ProRied o 3@ R oifthd gge &1 T ueh T ¢ ? |
(A) o9 B) W  (C) T (D) TR
Which of the following is not a component of the LibreOffice suite ?
(A) Base (B) Writer (C)  Impress D) Explorer
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54.

55.

56.

57.

58.

59.

WB) A distributed ledger on a peer to peer network

e & @ &1 vy o iifthg 3 Tafte 78T S -

(A) .odt (B) .ods (C) .odp (D) .rif
Which of the following extensions is not related to the LibreOffice ?

(A) .odt (B) .ods (C) .odp (D) .rif

(A) fger B) figesT (C) cchumm (D) SR
Choose the correct Instant Messaging app :

(A) Twitter (B) LinkedIn (C) Telegram (D) Instagram
fermier sifRfen Riew  wrgell ) e & R frw wais 1 3uan e ST 2 2
(A) delete (B) rm (C) dm (D) erase
Which command is used for removing files in the Linux operating system ?

(A) delete (B) rm (C) dm (D) erase
fepet Wie=icw fetiee w0 J a1 Cale S & 2

(A) 3 (B) 4 (C) 1 (D) 2

How many spreadsheets create new Calc by default ?

(A) 3 (B) 4 ©) 1 (D) 2
31T Ueh W1ES H ifiicberet e == Siie e § 2 |

(A) 3 (B) 2 (Cy & (D) 10
What is the maximum number of views you can add to a slide ?

(A) 3 (B) .2 (C) 5 (D) 10
Silpa T g ?

(A) TP UDBR $I fppiepadt

(B) IR ¢ YRR Fead W s faid awR

(C) TP Hllepd e

(D) T Hal

What is Blockchain ?
(A) Atype of cryptocurrency

(L) A centralized ledger
(D) A Currency
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6o. T oifftre 7 fiie ST Biem @ icPe ol a g 2
(A) Ctrl+G (B) Ctrl+A (C) Ctrl+P (D) Cirl+D
What is the shortcut key to Open the Print dialog in LibreOffice ?
(A) Ctrl+G (B) Ctrl+A (C) Cirl+P (D) Ctrl+D
61. Tordt oifftpd & e e & g e Foll a1 g ?
(A) Ctrl+C (B) Ctrl+X (C) Ctrl+K (D) Shift + X
What is the shortcut key to cut in LibreOffice ?
(A) Ctrl+C (B) Cirl + X (C) Ctrl+K (D) Shift + X
62. 3 STIUR I TSl AH I :
(A) T (B) dIg (C) Shwd (D) SfTORT
Choose the correct name of Web browser :
(A) Google (B) Yahoo (C) Gmall (D) Opera
63. %ﬁ&ﬁaﬁwﬁt@a%aﬁnﬁ@aﬁ%ﬁ%ﬁmwmm%?
(A) Cirl+L (B) Ctrl+Shift +1  (C) GCtrl+t (D) Ctrl+1
Which key is used to open the Format Cells dialog in LibreOffice ?
(A) Ctrl+L (B) Ctrl+Shift +1  (C) Ctrl+t (D) Cirl+1
64. ﬁaaﬁfﬁmwﬁmmmﬁ%mmmﬁﬁﬁmwm
87
(A) Cirl+F11 (B) Ctrl+F12 (C) Citrl+F10 (D) Ctrl+F9
Which shortcut key is used for inserting table in LibreOffice Writer ?
(A) Cirl+F11 (B) Citrl+ (C) Ctrl+F10 (D) Ctrl+F9
65. Trafeiad & Y B O e T AUeH TR 8 ?
(A) #DIV/0! (B) #DIV/0 (C) #D/0! (D) #Dl/0!
Which one of the following is zero division error ? '
(A) #DIV/O! (B) #DIV/0 (C) #D/0! (D) #DI/0!
66. CrmRiedd Y AH-aR s uRfdeH disd /8 ?
(A) Ui FdSS  (B) URde F8S  (C) e Fss (D) SWRidd IH
Which of the following is/are the cloud deployment models ?
(A) Public Cloud (B) Private Cloud (C) Hybrid Cloud [(D) Allof the abovi
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67.

68.

69.

70

Ford oiferr <3 a1 e CaRE S 2

(A) .ott (B) .odt ‘ (C) .ods (D) .odp
What is the file extension of LibreOffice Impress ?.: .
(A) oft (B) .odt “HG) " ods (D) .odp
IR TR 3R SHToRfT Riew fred Ieu & -
(A) fSam=y o _ (B) Rendiredy
(C) VWP AR (D) PEHES AR
Communication software and operating system are examples of :
(A) Device drivers | [[B) System softwa%l _
(C) Application software = . (D) Customized software
RYIR DTS BT 3 § - g it e
(A e Ruigss (B) TP A @le
(C) ®Ec g se (D) T Y HIS TN
QR code means : - s
(A) Quick Response Code (B) Quick Rolling Code
(L) Quite Response Code (D) None of the above :

. v i e o wier 35 Rorg e sl o1 i e e &

(A) - Ctrl+Shift+kS  (B) Ctrl+Shift+O (C) Ctrl+Shift+T (D) Ctrl+Shift+X
Which key is used to open Print Preview in LibreOffice ? :
(A) Cirl+Shift+S B) Ctrl+Shift+O| (C) Ctrl+Shift+T (D)  Ctrl+Shift+X

R oifre wrses 3 RewTee preer 3

71. ,
(A IS e (B) SFETECT .
() Fmed (D) SWIgdHY I TdT
is the default file name in LibreOffice Writer.
Hﬁ) - Odt filel (B) Untitled 1 ,
(C) New file (D) None of the above
72, for 3ty oo & P e B '
(A) 8 CAB € 14 -~ - (D) o
__total charts are in LibreOffice Calc. )
(A) 8 (B) 12 (G} 14 (D) 10
- ﬁﬂﬁ;ﬁﬁ@té&ﬂﬁwwm A & forT 359 T 1aT 1 ST fapan
SiIdl e ? - ; ‘
(A) SRCSiTg (B) gifters (C) TTEuwe (D)  SMEEATITH
In Online Internet Banking, which payment method is used to immediately transfer
the money? _ :
(A) RTGS (B) .UPI . < ACY = NEFT (D) IMPS
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74.

75.

76.

77.

78.

R ot e A e e et org P 1 R ol 91 3T e e

(A) Ctrl+ F12 (B) Ctrl+Shift+ F12

(C) F12 . (D) - Shift+F12

Which of the following key is used to add bullet list in LibreOffice wrlter

(A) Ctrl+F12- (B) Ctrl+Shift+ F12

[C_F1z7] (D) Shift+F12

Ry aifftr & e Qe s & g widese pofl @ g 2

(A) Ctrl+Shift+A , (B) Ctrl+Shift+X
- (C) Ctrl+Shift+V ey (D) Ctrl+V

What is the shortcut key for Paste Special dialog in LibreOffice ?

(A) Ctrl+Shift+A < (B) Ctrl+Shift+X

m) Ctrl+Shim+v | (D) Ctrl+V

) FexAc ﬂﬁa EﬁEE?R , (B) . e Uiy UfSere?

(C) $ee WY TSy (D) FcIc U IfgaR

ISPisa: - o)

(A) Internet Service Provider (B) Internet Service Predictor

(C) Internet Source Frovider (D) - Internet Source Predlctor

Alt+Page Down Wﬁﬁ%ﬁﬁ%um%ﬁﬁ%m% ?
(A) R ShR FAaR R (B)-. o Sthae TET 3ATell WSS W ST

) e wiss femr (D) TSS AW A Usdl WIgsS W Sl

' AIt+Page Down key is used for which of the following effect in Slide Show ? -

(A) Play next effect : (B) Go to next slide without playing efieC
(C) Show previous slide _ ump o Tirst slide in slide show
Wwﬁ@ﬁﬂ@ﬁéwwﬁﬁ%mqﬁw&mﬁﬂﬁ%c

gl gnit 2 T8l fabed I -

(A) FRH (B) Ye-diow

(C) 3M3c e[ (D) T q BIS Ta!
If send email is not in sender sent-box nor in the inbox of receiver then where i
be ? Choose the correct option

(A) In Draft , (B) In Sent-box

(C) In Outbox g (D) None of the above
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79. U frdpoger sy ﬂﬁ%a‘raa“a;"ﬂﬁwm|
(A) DR , (B) wex
(C) SRR (D) SifRFHT e
If a computer does not have the , , it cannot "boot.”
(A) Compiler (B) Loader &
(C) Assembler (D) Operating system
80. ﬁ%ﬂéﬁﬁ%%mﬁﬁ@aﬁﬁﬁwﬁwwﬂaﬂmﬁmm% ?
(A) F1 (B) F3 (C) F7 (D) F8 :
Which of the following functions key is used to perform a spelling check ?
(A) Fi1 B B3 (C) F7 (D) F8
81, DAY SO AR E 2 | |
(A) WTEBITE [T (B) urg ~(C) fafedifsar (D) T
Which one is not the search engine ? ‘ ‘
(A) Microsoft Bing (B) Yahoo _@) Wikipedia (D) Google
&, ﬁﬁaﬁq%ﬁ@aﬁmﬁmw 2
(A) Ctrl +C (B).. Ctrl-+.+ - (C) Delete (D) Ctrl+ -
‘ shortcut key of deleting of the cell in LibreOffice Calc ?
(A) Ctrl +C _ B).. Ot 5 (C) Delete (D) Ctrl + -
83. ﬁiﬁaﬁﬁrﬁsﬂﬁﬁm@mﬁwmmw%? L
A) fdes = (B) fRFeg (C) AP " (D) IWRigd g+
Which of these platforms can LibreOffice work on? : :
(A)  Windows (B) Linux (C) Mac‘ m)) All of the above
84. forst oiifthd 7 Rrew o ey g A A 2 2 ‘ |
(A) iHe (B) T (C) ;. (D) @IS el
In which menu is the option of Thesaurus in LibreOffice ? '
(A) Format (B) Tools | (C) View (D) ‘None
5. RU.TH. &1 qof ST 1§ 2
(A) s vy A (B) YSH TR AXRY
S TR /A (D) ORI & A B TE
What is the full form of RAM ? ; S
(A)  Read Access Memory b |EB) Random Access Memory
(C) Red Access Memory , one of the above '
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86.

87

88.

89.

90.

91

TS U FIY EUE :

(A) 3MYR Aecs JHe A

(B) SMYR TARIeS UHc RikeH

(C) -3MYR FAscs UHe Ren

(D) TIPSR

AEPS stands for : e

(A) Aadhaar Enabled Payment Source .
B) _Aadhaar Enrolled Payment System

(C) Aadhaar Enabled Payment system |

(Ay Ctrl+Y . (B) Ctrl+Z (C) Ctrl+X (D) Ctrl+V
e ~ key is used for redo in LibreOffice Writer. :
[(A) Ctrl+Y | (B): Ctrl+Z (C) Citrl+X - (D) Ctrl+V
I 1 TR TS G Y e TR R bl S HRaE 2 ,
(A) 511 (B)=-508" (C) 510 (D)2*509
Which error code indicates the missing equals sign from the formula?
(A) 511 2. fB). 608 (C) 510 : (D) 509
R aifftre eeR A 2ie @) AW B B RiT o ol T STUNI ol el @ 2
(A) Ctrl+N - (B) Ctrl+Shift+N  (C) Shift+O (D) -Ctrl+Shift-+(

. fray st Ren 3 fdvan -

(D) None of the above

R aifftre wrgex 1 g 739 % Rig ol &1 U b ST B

Which key is used to manage the template in LibreOffice Writer ?

(A) Ctrl+N [B) Ctr+Shift+N] (C) Shift+O (D) Ctrl+Shift+
SANT T S ? ol fdeped T : o ao

(A) PaATHITUTE (B) Tg JeTEe a1 9 U € vl ©
(C) TUH Wy JTAET B (D) TTH B TE '

What is blog ? Choose the correct option.: :
(A) Is aWeb page only (B) It can be Website or Web Page
(C) Is a complete Website ; ;5 None of the mentoned

(A) e U Tg-JuaEd SR Ren &
(B) UE U S YA SRFET Rieer 8
(C) UG HedteT&hT SrRfe ReA &

(D) JORAad FHT :

Features of the Linux operating system.:

(A) Itis a multi-user operating system

(B) Itis a highly secure operating system

(C) It is multitasking operating system

(D) All'of the above
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92.

93.

94.

Poil &1 IunT o 3w rgex § T TRwnw uRadT & @7 3% H
fere faman o &1
(A) Shift+Enter (B) Cirl+L (C) Ctrl+Enter (D) Cirl+O
key is used for Line Break in LibreOffice Writer without paragraph
change.
(A) Shift+Enter (B) Citrl+L (C) Citrl+Enter (D) Ctrl+O
ferst aiiftha WTgex & O SARTRTH 5 g TR HT T 2
(A) Uige (B) igs
(C) dswpy (D) UIce 3R dSwhy S
Which is the type of page orientation in LibreOffice Writer ?
(A) Portrait (B) Slide
(C) Landscape (D) Both Portrait & Landscape
"fefraiene & dey &, Mo 43 e IR U I 28 -

. Tg fSforea e dim & Ted WRPR gRT Rafia T Rfied wie Rrem 2

I T% SUSB! 3(UA §-XIAS d% UgeR B STAR a7 & =R oy et ot wE o
R 5|

(A) &Had | (B) ad Il

(C) 13RI EFf (D) Aarl R

Regarding “DigiLocker”, which of the following statements is/are correct ?

l. It is a digital locker system offered by the Government under Digital India
Programme.

Il.  Itallows you to access your e-documents irrespective of your physical location.

(A) lonly (B) Il only
(C) Bothland Il (D) Neither I nor I
95 fors aﬁmﬁﬁﬂ-a%mﬁnﬁﬁmaﬁwﬁa?maﬁnmmﬁq%qaﬁwﬁm
BRI B & T o5 wiidepe Soft 1 Ui fbar ST & 2
(A) Shift+Ctrl+R  (B)  Shift+Ctrl+X (C) Shift+Ctrl+S (D) Shift+R
Which shortcut key is used for restoring or refreshing the view of the current
document after changing the anti-aliasing settings in LibreOffice ?
(A) Shift+Ctrl+R  (B)  Shift+Ctrl+X (C) Shift+Ctrl+S (D) Shift+R
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96. TH.UA.AW. ST YiwTG:

(A Tiue v efifaa midiera B) Riva Aa TR Uiespid
€) Riue A U Weidia (D) JRed H TP el
SMTP stands for :

(A) Simple Mail Terminal Protocol |(B) Simple Mail Transfer Protocol
(C) Simple Mail Transport Protocol (D) None of the above

97. AT I IR TE AT RIG ?

(A) ICEIKSIES] (B) 3R A (C) U e (D) SR TR
What is the line given above a text ?

(A) Below line (B) Over line (C) Upline (D) Upper line
98, USRTH B s W ny RiRa e % frg e Sudiv far S © 2

(A Redd (B) ¥IIFS TFR

(C) Wigs i g (D) WIES g

Which is used to determine the timing on a slide in a presentation ?
[A) Rehearsal (B) Slide Timer
(C)_ Slide Timing Tool (D) Slide Tool

99. AW A sfcatic & SHfUHaH PR TR ?

(A) 25MB (B) 25TB (C) 25GB (D) 25 KB
What is the max size of attachment in Gmail ?
|(A) 25 MB (By 25718 (C) 25GB (D) 25 KB

100. SHAT-SHE Ud & forg Het Urey A

(A) abc@gmail.com (B) abc@gmail-com
(C) abcgmail@com (D) TTH A BIS T8l
Choose the correct format for Gmail-email address :
[A) abc@gmail.com (B) abc@gmail-com
(C) abcgmail@com (D) None of the above
-00o0-
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